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Trace Notes Input Freq Sample Interval ADEV at 200s Duration Acquired Instrument
OCX0131-100-1 dacstep 1E-11 + neo7m ext ant tc500s - ref rb3 (Unsaved) 10 MHz 1.000 s 4.59E-12 1d 18h 33m 25s 153205 pts HP 5370A/IB
DOT050 gpsdo leabt int ant not fixed mode tc100s - ref Rb3 (Unsaved) 10 MHz 1.000 s 9.46E-11 7h 4m 52s 25492 pts HP5370B
p DOT050 gpsdo leabt int ant fixed mode tc100s - ref Rb3 (Unsaved) 10 MHz 1.000 s 6.44E-11 8h 38m 48s 31128 pts HP5370B
DOT050 gpsdo leabt int ant fixed mode tc25s - ref Rb3 (Unsaved) 10 MHz 1.000 s 3.67E-11 5h 46m 34s 20794 pts HP5370B

Figure 8. ADEV’s of two of my GPSDO’s. DOT050 is a VCTCXO, here tested with different GPS modes
and time constants.
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Allan Deviation Gy(T)
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[ Trace [ Notes | Sample Interval | ADEVat2s | Duration | Acquired Instrument
| _STP21873 holdmode -10ppb - b3 1hz TiCvaluecorr (Unsaved) | [ 1s [ 382610 [ 17hdom7s | 63607pts | Arduino

Linearresidual mode for phase/frequency plots disabled

Figure 9. OCXO in holdmode measured with Arduino TIC (OCXO offset about 10ppb)
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Hadamard Deviation HO‘y(T)
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[ Trace [ Notes | Sampleinterval | HDEVat2s | Duration | Acquired Instrument
p STP2187-3 holdmode -10ppb - b3 1hz TiCvaluecorr (Unsaved) | [ 1s [ 387E10 | 17hdom7s | 63607pts | Arduino

Figure 10. OCXO in holdmode measured with Arduino TIC
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Modified Allan Deviation (Mod Uy(T))
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[ Trace [ Notes | Sampleinterval | MDEVat2s | Duraton | Acquired | Instrument
} STP2187-3 holdmode 10ppb - b3 1hz TiCvaluecor (Unsaved) | [ 1s 287E-10 | 17h40m7s_ | 63607 pts | Arduino
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Figure 11. OCXO in holdmode measured with Arduino TIC
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Time Deviation oy(T)
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[ Trace [ Notes | Sampleinterval | TDEVat2s | Duration | Acquired Instrument
B STP2187-3 holdmode -10ppb - b3 1hz TICvaluecorr (Unsaved) | [ 1s [ 33110 [ 17hd4om7s [ 63607pts | Arduino
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Frequency Difference (Linear residual)
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Trace [ Notes [ Sample Interval | Freqat10200s | Duration | Acquired | Instrument
P _STP2187-3 holdmode -10ppb - rb3 1hz TICvaluecorr (Unsaved) | [1s [ a.79E-9 [ 17hdom 7s | 63607 pts | Arduino

enabled

Figure 13. OCXO in holdmode measured with Arduino TIC (OCXO offset about 10ppb)

21



